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            ( ) 
Attempt each questions:      50x2=100 

(1) Center located in Pons is - 
(a)  Pneumotaxic center  (b) Apneustic center    
(c) Both     (d) None 
Pons
(a)  Pneumotaxic center  (b) Apneustic center    
(c)      (d)  
 

(2) Per minute flow of blood in Kidney is - 
(a)  1200 ml    (b) 1500 ml  
(c) 1600 ml    (d) None 

  
(a) 1200 ml    (b) 1500 ml 
(c)  1600 ml (d) 

(3)  Largest endocrine gland is - 
(a)  Pituitary     (b) Thyroid 
(c) Both     (d) None 

  
(a)  Pituitary     (b) Thyroid   
(c) (d) 

(4)  Stroke volume of Heart is - 
(a)  100 ml    (b) 90 ml  
(c) 70 ml    (d) None 

 Stroke volume   
(a)  100 ml    (b) 90 ml  
(c) 70 ml    (d) 



 
(5) Activity of Pituitary is controlled by - 

(a) Hypothalamus   (b) Pancreas    
(c) Both     (d) None 
Pituitary   
(a)  Hypothalamus   (b) Pancreas  
(c)   (d) 

 
(6) Parts of Adrenal are - 

(a)  Cortex    (b) Medulla   
(c) Both     (d) None 

  
(a)  Cortex    (b) Medulla  
(c)     (d) 

 
(7) Left atrium of Heart receives blood from - 

(a)  Liver     (b) Kidney  
(c) Lungs    (d) None  

atrium  
(a)       (b)  
(c)    (d)  

(8)  Cellular necrosis will happen if air has CO2 - 
(a)  8%      (b) 4% 
(c) 20%     (d) None  
Cellular necrosis  CO2  
(a)  8%      (b) 4%   
(c) 20%    (d) 
 

(9) Number of bones in Ribcage is - 
(a)  10 pairs    (b) 12 pairs   
(c) 15 pairs    (d) None  
Ribcage
(a) 10     (b) 12   
(c) 15     (d) 
 

(10) It is known as the ‘seat of the soul’ - 
(a)  Pituitary    (b) Thymus   
(c) Pineal     (d) None  
‘Seat of the soul’  
(a)  Pituitary    (b) Thymus  
(c) Pineal    (d)  



(11) Blood at right part of Heart is - 
(a) Pure     (b) Impure    
(c) Both     (d) None 

 
(a)     (b)    
(c)     (d) 
 

(12) Gaseous Exchange takes place by - 
(a)  Diffusion method  (b) Filtration method    
(c) Both     (d) None  

 
(a)     (b)    
(c) (d)  
 

(13) Examples of local hormone is - 
(a) Gastrin    (b) Secretin 
(c) Bradykinin    (d) All  

 
(a)  Gastrin    (b) Secretin
(c) Bradykinin    (d) 

(14) Number of chambers in Heart - 
(a)  2     (b) 4   
(c) 6     (d) None  

 
(a) 2     (b) 4     
(c) 6 (d) 
 

(15) Normal breathing type is - 
(a)  Apnoea    (b) Hyperpnoea   
(c) Eupnoea    (d) None  

 
(a) Apnoea    (b) Hyperpnoea   
(c) Eupnoea    (d) 
 

(16) The activities of all organs of human body is controlled by - 
(a)  Endocrine system  (b) Nervous system    
(c) Both     (d) None  

 
(a)  Endocrine system  (b) Nervous system   
(c)    (d) 

 



 

(17) The fibers of Cardiac muscles are branched - 
(a)  True     (b) False 
Cardiac muscles branched  
(a)     (b)  

(18) Optimum temperature for Spermatogenesis - 
(a)  500C     (b) 400C  
(c) 370C       (d) None  
Spermatogenesis  
(a) 500C    (b) 400C  
(c) 370C (d) 
 

(19) The walls of Arteries are made of - 
(a)  Smooth muscle fiber  (b) Elastic fiber  
(c) Both     (d) None  

 
(a) Smooth muscle fiber  (b) Elastic fiber 
(c)      (d)  
 

(20) The person will be infertile if number and motility of sperms will be– 
(a) 20-30 Million/ml,40%  (b) 10 Million/ml,10%  
(c) Both       (d) None  

 
(a) 20-30 Million/ml,40%  (b) 10 Million/ml,10% 
(c)      (d) 

 
(21) These are related to Menstrual cycle - 

(a) Menorrhagia   (b) Metrorrhagia  
(c) Both     (d) None 

 
(a)  Menorrhagia   (b) Metrorrhagia  
(c) (d)  

 
(22) Sound of Lungs in case of Bronchial Asthama is - 

(a) Vesicular    (b) Ronchi  
(c) Both     (d) None 
Bronchial Asthama  
(a) Vesicular    (b) Ronchi  
(c) (d)  

 



(23) Hormones which affect the Heart rate - 
(a) Epinephrine   (b) Nor Epinephrine   
(c) Both     (d) None  

 
(a) Epinephrine   (b) Nor Epinephrine
(c) (d) 

(24) Kidney performs - 
(a) Filtration     (b) Re-absorption   
(c) Both     (d) None  

 
(a)  Filtration     (b) Re-absorption   
(c)     (d)  

 
(25) Structural and functional unit of Lungs - 

(a) Cell     (b) Alveolus   
(c) Tissue    (d) None 

 
(a)    (b)  
(c)     (d) 
 

(26) Kidney is made up of - 
(a) Neuron    (b) Nephron    
(c) Both     (d) None  

 
(a) Neuron     (b) Nephron   
(c)     (d) 

(27) Pituitary Dwarfism is caused due to - 
(a) Lack of growth of hormone (b) Lack of Insulin   
(c) Both     (d) None  
Pituitary Dwarfism  
(a)  (b)    
(c)     (d) 
 

(28) Per minute Gasious exchange in Lungs is - 
(a) 4 Liters    (b) 5 Liters 
(c) 2 Liters    (d) None  

 
(a)  4     (b) 5   
(c) 2    (d) 
 



(29) Influence of Adrenal hormones - 
(a) General health   (b) Sex development  
(c) Electrolyte balance  (d) None  

 
(a)   (b)    
(c)   (d) 
 

(30) Diastolic time of right and left atrium is - 
(a) 0.8 second    (b) 0.3 second    
(c) 0.7 second     (d) None  

atrium  
(a) 0.8      (b) 0.3     
(c) 0.7   (d) 

 
(31) Number of Kidneys in human body are - 

(a) 2     (b) 3    
(c) 1      (d)  None  

 
(a) 2     (b) 3   
(c) 1 (d) 

(32) Hormones secreted by Pancreas - 
(a) Insulin    (b) Glucagon   
(c) Somatostatin   (d) All  
Pancreas  
(a)     (b)   
(c)     (d) 

(33) Pace Maker of Heart is - 
(a) SA Node    (b) AV Node  
(c) Both      (d) None  

 
(a)  SA Node    (b) AV Node   
(c)     (d)  

 
(34) Pregnancy test become +ve if - 

(a)  Pregnancy is confirm   (b) Tumor in uterus    
(c) Choreocarcinoma  (d) All  
Pregnancy test +ve  
(a) Pregnancy    (b) Uterus    
(c) Uterus Choreocarcinoma (d) 

 



(35) Hormones which affect all parts of body - 
(a) Tropic hormones  (b) True hormones   
(c) Both     (d) None  

 
(a) Tropic hormones  (b) True hormones 
(c)   (d) 
 

(36) Parts of Cardio vascular system are - 
(a) Heart    (b) Blood vessels 
(c) Both     (d) None 
Cardio vascular system  
 (a)    (b)  
 (c)   (d)  

 
(37) Emphysema is related to - 

(a) Liver      (b) Heart   
(c) Lungs    (d) None  
Emphysema  
(a)      (b)    
(c)     (d)   

(38) Absence of ____ makes a female infertile  - 
(a) Estrogen    (b) Progestorone   
(c) Both     (d) None  

infertile  
(a) Estrogen    (b) Progestorone
(c) (d) 

(39) Superior and inferior vena cava have - 
(a) Pure blood    (b) Impure blood   
(c) Mixed blood   (d) None 
Superior and inferior vena cava  
(a)     (b)   
(c)     (d) 
 

(40) Anaemic Hypoxia will occur due to - 
(a) Malnutrition   (b) Hemorrhage    
(c) Both     (d) None  
Anaemic Hypoxia  
(a)    (b)   
(c)   (d) 

 



(41) Growth hormone is secreted by - 
(a) Pituitary gland   (b) Thyroid gland   
(c) Adrenal gland   (d) None  
Growth  
(a) Pituitary gland   (b) Thyroid gland  
(c) Adrenal gland    (d) 
 

(42) The outer layer of Pleural membrane is adherent to - 
(a) Heart    (b) Ribcage 
(c) Diaphragm    (d) None  
Pleural membrane  
(a)   (b)   

(c)     (d) 
 

(43) ___stimulates the secretion of milk in breast of females - 
(a) Thyroid     (b) Prolactin   
(c) Both     (d) None  

Milk secretion  
(a) Thyroid     (b) Prolactin  
(c)    (d) 
 

(44) Testes is a reproductive organ of - 
(a) Female    (b) Male   
(c) Both      (d) None  
Testes  
(a)     (b)    
(c)  (d) 
 

(45) One complete respiration cycle is of - 
(a) 0.4 second    (b) 5 second   
(c) 4 second    (d) None  

 
(a) 0.4     (b) 5    
(c) 4 (d)  

(46) Heart Systole is a - 
(a) Active phase   (b) Resting phase  
(c) Both     (d) None  

 
(a)    (b)   
(c)    (d) 



(47) Vegus is a - 
(a) Cranial nerve    (b) Spinal nerve  
(c) Both      (d) None  
Vegus  
(a) Cranial nerve    (b) Spinal nerve   
(c)    (d)  

 
(48) Loop of Henle reabsorbs - 

(a)  Water    (b) Sodium    
(c) Minerals    (d) None  
Loop of Henle  
(a)      (b)     
(c)     (d) 

(49) Takes part in respiration - 
(a) Diaphragm muscle  (b) Back muscles    
(c) Abdominal muscles  (d) None  

 
(a) Diaphragm muscle  (b) Back muscles   
(c) Abdominal muscles  (d) 

(50) Oogenesis starts due to ____hormone - 
(a) Follicle stimulating hormone (b) Growth hormone  
(c) Both     (d) None  

Oogenesis  
(a) Follicle stimulating hormone (b) Growth hormone   
(c)   (d)  

   ………..
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      (ONLINE EXAM)

Objective Questions ( )

Attempt each question:      50x2=100 

(1) Spleen is related with - 

(a)  Food Qi    (b) Qi Originalis   
(c) Gathering Qi   (d) None  

(a)  Food Qi     (b) Qi Originalis 
(c) Gathering Qi   (d) 

(2) Excess thirst indicates - 

(a)  Normal condition  (b) Internal coldness   
(c) Internal hotness   (d) None 

(a)    (b) 
(c)    (d) 

(3)  Blackish colour of face indicates - 
(a)  Dryness    (b) Coldness  
(c) Wind     (d) None 

(a)     (b) 
(c)       (d) 

(4)  Back Shu point of Tw is - 

(a)  UB - 12    (b) UB - 17   

(c) UB – 18    (d) None 

 Back Shu point
(a)  UB - 12    (b) UB - 17 
(c) UB – 18    (d) 



(5) Protecting organ from external wind-cold attack is - 

(a)  Heart    (b) Spleen   

(c) Lungs    (d) None 

(a)       (b) 

(c) (d) 

(6) Stages of disease are - 

(a)  Five     (b) Six  

(c) Eight     (d) None 

(a)        (b) 

(c)     (d) 

(7) Life essence is related to - 

(a)  Heart    (b) Lungs   

(c) Kidney    (d) None 

(a)      (b) 

(c)   (d) 

(8) Moving pain is due to - 

(a) Deficiency of Qi   (b) Stagnation of Qi    

(c) Stasis of Blood   (d) None

(a)     (b) 

(c)  (d) 

(9) Enuresis is due to - 

(a)  Stomach    (b) Kidney

(c) Lungs     (d) None

(a)     (b) 

(c)    (d) 



(10) Prolapse of Anus is a symptom of - 

(a)  Heart Qi deficiency  (b) Spleen Qi sinking    

(c) Lungs Qi deficiency  (d) None 

(a) Heart Qi deficiency  (b) Spleen Qi sinking   

(c) Lungs Qi deficiency  (d) 

(11) Excess bleeding in periods is due to - 
(a)  Blood deficiency   (b) Heat in blood   
(c) Stagnation of blood  (d) None 

(a)     (b) 
(c)   (d) 

(12) “Gates of vitality” related organ is - 

(a)  Kidney    (b) Heart   
(c) Liver     (d) None  
“Gates of vitality”
(a)     (b) 
(c)  (d) 

(13) Lungs is related with - 

(a)  Food Qi    (b) Defensive Qi   
(c) Both     (d) None  

(a) Food Qi   (b) Defensive Qi
(c) (d) 

(14) Reason of untimely whitening of hair of head is - 

(a)  Kidney essence   (b) Spleen Qi deficiency    
(c) Liver Qi stagnation  (d) None  

(a) Kidney essence   (b) Spleen Qi deficiency
(c) Liver Qi stagnation  (d) 

(15) Anger emotion related organ is - 

(a)  Heart     (b) Lungs 
(c) Liver     (d) None  

(a)       (b) 
(c) (d) 



(16) The season related to Heat energy is - 

(a)  Summer    (b) Spring  
(c) Autumn    (d) None  

(a)      (b) 
(c) (d) 

(17) Horary point of Stomach is - 

(a)  St - 45    (b) St - 44  
(c) St - 43    (d) None  

Horary point 
(a) St - 45    (b) St - 44 
(c) St - 43 (d) 

(18) Pair organ of Lungs is - 

(a) Spleen    (b) Large Intestine   

(c) Liver     (d) None  

(a)     (b) 
(c)     (d) 

(19) Diseases are due to - 

(a)  Excess of energy  (b) Deficiency of energy    
(c) Imbalance of energy  (d) None  

(a)     (b) 
(c) (d) 

(20) Which point to be applied after unconsciousness due to High Blood 

Pressure is - 

(a) K - 1     (b) K - 6   

(c) K – 3     (d) None  

(a) K - 1     (b) K - 6  
(c) K – 3   (d) 

(21) Hiccup is related to - 

(a)  Contravaction of Qi   (b) Collapse of Qi  
(c) Deficiency of Qi   (d) None  

(a) Contravaction of Qi   (b) Collapse of Qi   
(c) Deficiency of Qi (d) 



(22) Putrid smell related organ is - 

(a) Lungs    (b) Liver  

(c) Kidney    (d) None  

(a)     (b) 
(c)    (d) 

(23) Sudden loss of voice is related to - 

(a) External wind cold  (b) External wind heat  

(c) Both     (d) None  

(a) External wind cold  (b) External wind heat
(c) (d) 

(24) Sweating in forehead is related to - 

(a)  Lungs    (b) Stomach  
(c) Kidney    (d) None  

(a)     (b) 
(c)    (d) 

(25) Evening time headache is related to - 

(a)  Yang deficiency   (b)  Yin deficiency  
(c) Both     (d) None  

(a)  Yang deficiency   (b)  Yin deficiency 
(c)  (d) 

(26) Reason of sudden dizziness is - 

(a)  Excess condition  (b) Deficiency condition  
(c) Both      (d) None  

(a)   (b) 
(c)    (d) 

(27) Photophobia is related to - 

(a) Deficiency of Qi   (b) Liver Blood deficiency  

(c) Excess condition   (d) None  

(a) Deficiency of Qi   (b) Liver Blood deficiency
(c) (d) 



(28) In contravaction, Qi flows - 

(a)  Left     (b) Right  
(c) Opposite    (d) None 

(a)  (b) 
(c) (d) 

(29) No taste of mouth is related to - 

(a) Spleen deficiency  (b) Lungs Qi deficiency    

(c) Kidney Qi deficiency  (d) None  

(a)  Spleen deficiency   (b) Lungs Qi deficiency 
(c) Kidney Qi deficiency   (d) 

(30) Organ Source point of Kidney is - 

(a)  K – 1    (b) K - 2 
(c) K – 3     (d) None.  

Organ Source point
(a) K – 1    (b) K - 2 
(c)  K – 3  (d) 

(31) Reason of pain in Thorax is - 

(a) Kidney     (b) Small Intestine  

(c) Heart & Lungs   (d) None  

(a)      (b) 
(c)    (d) 

(32) What is first treatment of Tobacco chewing patient – 

(a) Lungs     (b) Kidney  

(c) Stomach    (d) None  

(a)      (b) 

(c)   (d) 

(33) Weak cough is related to - 

(a) Excess type   (b) Deficiency type  

(c) Cold type    (d) None  

(a)    (b) 
(c) (d) 



(34) Reason of teeth bleeding is - 

(a) Heat in Liver   (b) Heat in stomach    

(c) Heat in Kidney   (d) None  

(a)     (b) 
(c)    (d) 

(35) Bitter taste is due to - 

(a) Liver     (b) Heart    

(c) Spleen    (d) None  

(a)    (b) 
(c) (d) 

(36) Smell in stool indicates - 

(a) Dryness    (b) Cold 

(c) Heat     (d) None  

(a)    (b) 
(c)   (d) 

(37) Reason of Midnight fever is - 

(a) Yang deficiency   (b) Yin deficiency 

(c) Excess condition   (d) None  

(a)     (b) 
(c)   (d) 

(38) Type of diseases related to blood is - 

(a) Two     (b) Three  

(c) Four     (d) None  

(a)      (b) 
(c)    (d) 

(39) Reason of blurred vision is  - 

(a) Stagnation of Qi   (b) Heat in blood  

(c) Liver blood deficiency  (d) None 

(a) Stagnation of Qi   (b) Heat in blood  
(c) Liver blood deficiency  (d) 



(40) Purple lips indicates - 

(a) Deficiency type   (b) Stasis of blood  

(c) Cold type    (d) None  

(a)    (b) 
(c)  (d) 

(41) Tip of the nose is red due to - 

(a) Spleen    (b) Kidney   

(c) Lungs    (d) None  

(a)  (b) 
(c)      (d) 

(42) Energy of St – 40 is - 

(a) Humidity    (b) Coldness 

(c) Wind     (d) None.  

St – 40
(a)  (b)

(c)   (d) 

(43) Belching, Nausea, Vomiting are due to - 

(a)  Stasis of blood   (b) Contravaction of Qi 

(c) Stagnation of Qi    (d) None  

(a)     (b) 
(c)    (d) 

(44) Red colour of eyes indicates - 

(a) Wind     (b) Dryness  

(c) Heat     (d) None  

(a)      (b) 
(c)     (d) 

(45) Belching is controlled by - 

(a) Stomach    (b) Lungs 

(c) Kidney    (d) None  

(a)     (b) 
(c) (d) 



(46) Wind point of UB meridian is - 

(a) UB - 65    (b) UB - 67   

(c) UB - 60     (d) None  

UB Wind
(a) UB - 65     (b) UB - 67    
(c) UB - 60 (d) 

(47) Sedation colour of Sp – 3 is - 

(a) Red     (b) Yellow 

(c) Black    (d) None  

Sp – 3
(a)      (b) 
(c)    (d) 

(48) Total points of Tw meridian are - 

(a) 44     (b) 45 

(c) 23     (d) None  

Tw meridian
(a)  44     (b) 45 
(c) 23     (d) 

(49) Dream disturb sleep is due to - 

(a) Stomach    (b) Liver   

(c) Lungs    (d) None  

(a)     (b) 
(c)   (d) 

(50) Front Shu point of Si is - 

(a) Cv - 4    (b) Cv -14    

(c) Cv - 12    (d) None  

Front Shu point
(a) Cv - 4    (b) Cv -14   
(c) Cv - 12    (d) 

   ………..
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Objective Questions ( )

Attempt each questions:      50x2=100 

(1) Which is common attribute - 
(a)  Method    (b) Combination    
(c) Number    (d) None 

(a)      (b) 
(c)     (d) 

(2) Permeability function is related to - 
(a)  Vayu     (b) Agni   
(c) Aakash    (d) None 

(a)     (b) 
(c)   (d) 

(3)  Treatment of Rt ear is on - 
(a)  Rt SF P jt    (b) Lt RF P jt     
(c) Rt RF P jt    (d) None 

(a) Rt SF P jt    (b) Lt RF P jt     
(c) Rt RF P jt    (d) 

(4)  Finger related to Aakash is - 
(a)  Lt SF    (b) Lt MF    
(c) Rt SF    (d) None 

(a) Lt SF    (b) Lt MF   
(c) Rt SF    (d) 



(5) Bone tissue related jt is - 
(a)  Rt MF P jt     (b) Lt IF P jt    
(c) Rt RF P jt    (d) None 

(a)  Rt MF P jt     (b) Lt IF P jt
(c) Rt RF P jt (d) 

(6) Treatment of ovaries is - 
(a)  Rt SF    (b) Rt RF      
(c) Rt MF    (d) None 

(a) Rt SF     (b) Rt RF
(c)  Rt MF    (d) 

(7) Lubrication is function of - 
(a)  Jal     (b) Prithvi  
(c) Kaal     (d) None 

(a)      (b) 
(c)     (d) 

(8) Smell related energy is - 
(a) Prithvi    (b) Jal   
(c) Agni     (d) None

(a)     (b) 
(c)    (d) 

(9) Kidney joint is - 
(a)  Lt MF V jt    (b) Lt SF V jt  
(c) Rt IF K jt    (d) None 

(a) Lt MF V jt    (b) Lt SF V jt
(c)  Rt IF K jt    (d) 

(10) Combination of Agni and Jal makes - 
(a)  Vaat     (b) Pitta   
(c) Kapha    (d) None 

(a)      (b) 
(c) (d) 



(11) Combination of Kapha is - 
(a)  1 + 2     (b) 4 + 5  
(c) 3 + 4     (d) None 

(a)  1 + 2     (b) 4 + 5
(c) 3 + 4     (d) 

(12) Specific attributes are - 

(a)  10     (b) 20    
(c) 30     (d) None  

(a)  10     (b) 20
(c)  30    (d) 

(13) Spine division are - 

(a)  4     (b) 5 
(c) 6     (d) None  

(a) 4     (b) 5   
(c)  6 (d) 

(14) Number of cervical vertebra is - 

(a)  7     (b) 8   
(c) 9     (d) None  

(a) 7     (b) 8  
(c) 9     (d) 

(15) Skin is - 

(a) Sense organ   (b) Action organ   
(c) Both     (d) None  

(a)     (b) 
(c) (d) 

(16) Which is not a trisutra - 

(a)  Hetu     (b) Ling   
(c) Result    (d) None 

(a) (b) 
(c)     (d) 



(17) Treatment for blood is - 

(a)  0,9 spr    (b) 3,4 spr   
(c) 4,5 spr    (d) None 

(a) 0,9 spr    (b) 3,4 spr  
(d) 

(18) Sciatica is related with - 

(a) Cervical     (b) Lumbar   

(c) Upper back   (d) None  

(a)      (b) 
(c)      (d) 

(19) Thyroid gland related finger is - 

(a)  Ring finger    (b) Small finger     
(c) Middle finger   (d) None 

(a)      (b) 
(c) (d) 

(20) Type of Kapha dosh is - 

(a) 4     (b) 5  

(c) 6     (d) None 

(a)  4     (b) 5  
(c) 6    (d) 

(21) Total vertebrae on Lumbar region is - 

(a)  3     (b) 5   
(c) 4     (d) None  

(a) 3     (b) 5    
(c) 4 (d) 

(22) Sedation colour of Jal is - 

(a) Yellow    (b) Red  

(c) Green    (d) None 

(a)    (b) 
(c)     (d) 



(23) As per Biological Clock time of Pitta-Pitta is - 

(a) 10 – 2 AM    (b) 6 – 8 PM    

(c) 4 - 6 AM    (d) None  

(a)  10 – 2 AM    (b) 6 – 8 PM
(c) 4 - 6 AM (d) 

(24) Treatment of Naughty children will be by - 

(a)  Kaal     (b) Disha   
(c) Man     (d) None  

(a)      (b) 
(c)     (d) 

(25) Function ‘stability’ is related with - 

(a)  Aakash    (b) Prithvi   
(c) Agni     (d) None 

(a)      (b) 
(c)  (d) 

(26) Pons is plotted on - 

(a)  Lt IF V Jt    (b) Lt MF V Jt   
(c) Rt IF V Jt     (d) None 

(a) Lt IF V Jt    (b) Lt MF V Jt
(c) Rt IF V Jt (d) 

(27) Navel is plotted on - 

(a) Rt IF     (b) Rt Thumb   

(c) Lt RF    (d) None 

(a)     (b) 
(c) (d) 

(28) Attribute ‘Dry’ is related with - 

(a)  Vayu     (b) Jal   
(c) Agni     (d) None 

(a)      (b) 
(c)    (d) 



(29) Function related to Jal is - 

(a) Stability    (b) Cohesion   

(c) Rugged    (d) None  

(a)      (b) 
(c)     (d) 

(30) Lt IF P jt related tissue is - 

(a)  Blood    (b) Plasma   
(c) Bone     (d) None 
Lt IF P jt
(a)    (b) 
(c)     (d)

(31) Middle part of Spinal cord is - 

(a) Cervical    (b) Thoracic    

(c) Lumbar    (d) None 

(b)     (b) 
(c) (d) 

(32) Total number of LHM is – 
(a) 3      (b) 4     
(c) 5     (d) None  
LHM
(a) 3      (b) 4    
(c)  5   (d) 

(33) Radiance is the energy of - 

(a) Jal     (b) Agni   

(c) Prithvi    (d) None  

(a)      (b) 
(c) (d) 

(34) Tonification colour of Mann element is - 

(a) Pink     (b) Yellow    

(c) Red     (d) None  

(a)    (b) 
(c)       (d) 



(35) Kaal related tissue is - 

(a) Blood    (b) Bone   

(c) Bone marrow   (d) None  

(a)       (b) 
(c) (d) 

(36) Total number of Thoracic vertebrae is - 

(a) 10     (b) 8   

(c) 14     (d) None 

(a) 10     (b) 8
(c) 14     (d) 

(37) Lt MF P jt related action organ is - 

(a) Hand    (b) Speech     

(c) Leg     (d) None 

Lt MF P jt
(a)       (b) 
(c)     (d) 

(38) Speech as action organ will be treated on - 

(a) Rt MF     (b) Lt RF    

(c) Lt IF     (d) None 

(a) Rt MF     (b) Lt RF    
(c)  Lt IF     (d) 

(39) Tonification colour of Vayu is - 

(a) Violet    (b) Indigo   

(c) Yellow    (d) None 

(a)      (b) 
(c)     (d) 

(40) Action organ related with Kaal element is - 

(a) Speech    (b) Arm   

(c) Leg     (d) None  

(a)     (b) 
(c)      (d) 



(41) Sedation colour of Disha element is - 

(a) Pink     (b) Red    

(c) Green    (d) None 

(a)    (b) 
(c)     (d) 

(42) Which one is not a Action organ – 

(a) Leg     (b) Speech   

(c) Tongue    (d) None 

(a)      (b) 

(c)      (d)

(43) Ojas tissue will be treated on - 

(a) Lt MF P jt     (b) Rt MF P jt   

(c) Rt RF P jt    (d) None 

(a) Lt MF P jt     (b) Rt MF P jt   
(c) Rt RF P jt (d) 

(44) Bone marrow related element is - 

(a) Prithvi    (b) Kaal   

(c) Disha    (d) None 

(a)      (b) 
(c)      (d) 

(45) Type of Vaat dosh are - 

(a) 4     (b) 5    

(c) 6     (d) None 

(a) 4     (b) 5   
(c) 6 (d) 

(46) Touch is energy of - 

(a) Aakash    (b) Vayu   

(c) Agni      (d) None 

(a) (b) 
(c) (d) 



(47) Spiral meridian is related with - 

(a) Vaat Jt    (b) Pitta Jt   

(c) Kapha Jt    (d) None  

(a)      (b) 
(c)     (d) 

(48) Slow attribute is - 

(a) Agni     (b) Jal   

(c) Vayu     (d) None 

(a)     (b) 
(c)      (d) 

(49) Gross attribute is related with - 

(a) Jal     (b) Prithvi   

(c) Agni     (d) None  

(a)    (b) 
(c)       (d) 

(50) Spinal cord ends - 

(a) Lumbar    (b) Sacral  

(c) Coccyx    (d) None 

(a) Lumbar    (b) Sacral  
(c) Coccyx    (d) 
   …………


